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QUESTION 1

You want to search for custom code that needs to be adjusted. Which of the following tools can you use? Please
choose the correct answer. 

A. ABAP Call Monitor (SCMON) 

B. Code Inspector (SCI) 

C. SQL Monitor (SQLM) 

D. Usage Data (SUSG) 

Correct Answer: A 

 

QUESTION 2

Which OData option do you use to access the data model of the service? 

Please choose the correct answer. 

A. $select 

B. $expand 

C. $format 

D. $metadata 

Correct Answer: D 

 

QUESTION 3

Which of the following are features of the Cloud Connector? There are 2 correct answers to this question. 

A. Provides audit logging of configuration changes 

B. Allows user-specific configuration 

C. Runs as on-premise agent in a secured network. 

D. Closes broken connections automatically 

Correct Answer: AC 

 

QUESTION 4

You want to create a new CDS view VIEW1 that reads from CDS view VIEW2. VIEW2 has 2 input 
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parameters, par1 and par2, with data type abap.char(10). 

Which of the following is the correct way to supply the input parameters? 

Please choose the correct answer. 

A. select from VIEW2( par1 = IText1I, par2 = IText2I ) 

B. select from VIEW2( par1: IText1I par2: IText2I ) 

C. select from VIEW2( par1: IText1I, par2: IText2I ) 

D. select from VIEW2( par1= IText1I par2= IText2I ) 

Correct Answer: C 

 

QUESTION 5

What are advantages of the expression-based syntax in ABAP compared to the statement- based syntax? There are 2
correct answers to this question. 

A. It uses fewer helper variables 

B. It is more concise 

C. It is faster 

D. It causes fewer exceptions 

Correct Answer: AB 

 

QUESTION 6

Which building blocks of the ABAP RESTful Programming Model(RAP) are part of the Core Data Services (CDS)? 

There are 2 correct answers to this question. 

A. Behavior Implementation 

B. Projection View 

C. Behavior Definition 

D. Service Definition 

Correct Answer: CD 

 

QUESTION 7

Which of the following rules apply to the naming of CDS Views? There are 2 correct answers to this question. 
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A. The data definition and the SQL view must have the same name. 

B. The SQL view name can be up to 30 characters long. 

C. The data definition name can be up to 30 characters long. 

D. The CDS view and the SQL view must have different names. 

Correct Answer: CD 

 

QUESTION 8

Which of the following do you use as a separator between a table and a field name in a CDS view definition? 

Please choose the correct answer. 

A. Tilde (~) 

B. Pointer (->) 

C. Minus (-) 

D. Period (.) 

Correct Answer: D 

 

QUESTION 9

For performance optimization, you want to combine the results of ABAP Test Cockpit and the SQL Monitor runtime data.
Which tool do you use for this? 

Please choose the correct answer. 

A. SQL Performance Tuning Worklist (SWLT) 

B. Runtime Check Monitor: Data Display (SRTCMD) 

C. SQL Monitor: Display Data (SQLMD) 

D. Runtime Check Monitor (SRTCM) 

Correct Answer: A 

 

QUESTION 10

SAP enabled key user extensibility for a SAP Fiori application. The application accesses a database table that you
extended with an append structure in the customer namespace. You want to use key user extensibility to create input
fields on the SAP Fiori UI that correspond to the custom database fields. 

Which of the following steps are mandatory? 
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There are 3 correct answers to this question. 

A. Append the custom database fields to the extension include structure provided by SAP. 

B. Activate the custom database fields using the transaction Extensibility Registry (SCFD_REGISTRY). 

C. Redefine the OData service used by the SAP Fiori app in transaction SAP Gateway Service Builder (SEGW)to add
the custom database fields. 

D. Enable the usage of the custom database fields in the Custom Fields and Logic app. 

E. Enable the custom database fields for usage in SAP Fiori apps using the transaction Enable Fields for Use in the
Custom Fields and Logic (SCFD_EUI) app. 

Correct Answer: ADE 

 

QUESTION 11

You have written the following code: START-OF-SELECTION. LOOP AT itab INTO DATA(line). * ENDLOOP. The
system creates a variable called Line. When is it created and when can you address it? 

Please choose the correct answer. 

A. It is created when the LOOP statement is processed. You can access it only within the loop. 

B. It is created at the beginning of the program. You can access it any time after the declaration. 

C. It is created when the LOOP statement is processed. You can access it any time after the declaration. 

D. It is created at the beginning of the program. You can access it only within the loop. 

Correct Answer: C 

 

QUESTION 12

In a Custom Business Object you want to implement a determination for a node with the ID SALESORDER. What kind
of parameter is the SALESORDER parameter? Please choose the correct answer. 

A. Importing 

B. Changing 

C. Returning 

D. Exporting 

Correct Answer: B 

 

QUESTION 13

You plan to migrate an SAP ERP system to SAP S/4HANA. Which of the following tasks are recommended but NOT
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mandatory? 

There are 2 correct answers to this question. 

A. Custom code evaluation 

B. Performance tuning 

C. SAP S/4HANA checks 

D. Functional adaption 

Correct Answer: AB 

 

QUESTION 14

You use the following expression to address the internal table gt_flights: gs_flight = gt_flights[ carrid = IXXI 

connid = I9999I]. There is NO table entry with the specified key. 

What is the result of the statement? 

Please choose the correct answer. 

A. gs_flight is initialized. The system triggers an exception. 

B. gs_flight retains its previous contents. The system triggers an exception. 

C. gs_flight retains its previous contents. The system sets sy-subrc to 4. 

D. gs_flight is initialized. The systemsetssy-subrc to 4. 

Correct Answer: A 

 

QUESTION 15

Which of the following features are available in Open SQL release7.50? There are 3 correct answers to this question. 

A. BETWEEN in ON conditions 

B. Up to 50 tables in JOINs 

C. FULL OUTER JOIN 

D. ASSOCIATION 

E. RIGHT OUTER JOIN 

Correct Answer: ABE 
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